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=] VSR | B | BE £ |RE| TR | BiEES K £ £i HH A= il F£E |MEFRE| & $EEE
60m M30 1 7.67 +25| 25 0835 B R 30 7.14 TEE T EFE JB/ith 2013 | &R
60m M30 2 7.73 +25| 27 1397 HER 2 33 7.14 T EFE JB/ith 2013 | =B
60m M30 3 784 |+25| 28 1185 AlE {55k 33 7.14 TEE T EFE JB/ith 2013 | &R
60m M30 4 793 |[+25| 25 0838 e FIE 34 7.14 TEE T EFE JB/ith 2013 | £R
60m M30 | OP 7.51 +2.5| 38 0749 55H A 34 7.14 TEE T EFE JB/ith 2013 | £R
60m M30 DNS 27 1384 JerE s 34 7.14 T EFE JB/ith 2013 | =B
60m M35 1 750 |+0.3| 27 1413 Wi &3 37 7.14 TEE T EFE JB/ith 2013 | &R
60m M35 DNS 28 1121 S 38 7.14 TV EFE JB/ith 2013 | =R
60m M35 DNS 29 0357 BER EA 37 7.14 TV EFE JB/ith 2013 | =R
60m M35 DNS 27 1329 AR TE 37 7.14 TV EFE JB/ith 2013 | =R
60m M35 DNS 27 1432 RE KA 37 7.14 T EFE JB/ith 2013 | =R
60m M40 1 7.88 -06| 27 1469 hE 1B 42 7.14 TV EFE JB/ith 2013 | =R
60m M40 2 8.00 -0.6| 26 0682 R #x 42 7.14 TV EFE JB/ 2013 | =B
60m M40 3 8.06 -0.6| 27 1321 BH EZ 40 7.14 TV EFE JB/ 2013 | =R
60m M40 4 9.74 -0.6| 30 0846 R FX 42 7.14 TV EFE JB/ 2013 | =R
60m M40 DNS 25 0813 IR FxX 44 7.14 TEE R FHE JR/ith 2013 | £RB
60m M40 DNS 29 0393 =R IhiE 44 7.14 TV ETFE JB/ith 2013 | =B
60m M40 DNS 27 1337 EH Edh 43 7.14 TEE R FHE JR/ith 2013 | £RB
60m M40 DNS 27 1165 k% xE 42 7.14 TV ETFE JB/ith 2013 | =B
60m M40 DNS 22 0970 RE XE 40 7.14 TV ETFE JB/ 2013 | =B
60m M45 1 780 |[+05| 25 0732 BEA £ 46 7.14 TEE R FHE JB/ith 2013 | £RB
60m M45 2 786 |+05| 27 1456 atY) fsE 45 7.14 TEE R FHE JB/ith 2013 | £RB
60m M45 3 7.93 +1.0| 27 0792 BHE FA 48 7.14 TV ETFE JB/ith 2013 | =B
60m M45 4 7.93 +05| 27 1369 1B R 48 7.14 TV ETFE JB/ith 2013 | =B
60m M45 5 8.23 +0.5| 25 0755 A Bz 45 7.14 T IETFE B/ 2013 | =
60m M45 6 8.28 +1.0| 25 0674 E— 49 7.14 TV ETFE B/ 2013 | =
60m M45 | OP 8.11 +1.0| 24 0648 Hi& ZE 46 7.14 T RFIE JB/ it 2013 | £RB
60m M45 DNS 29 0422 J\K FIsE 48 7.14 T EFE JR/ith 2013 | &
60m M45 DNS 26 0469 o — 47 7.14 TEETETFE JB/ith 2013 | =
60m M45 DNS 28 1312 =R EZ 46 7.14 T RFIE JB/th 2013 | £RB
60m M45 DNS 27 1187 AT BZ= 45 7.14 TV ETFE JB/ith 2013 | =B
60m M45 DNS 24 0467 HA ==& 46 7.14 T TIETFE B/ 2013 | &R
60m M45 DNS 22 0835 fEk BEEE | 46 7.14 T RFIE JB/th 2013 | £RB
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60m M45 DNS 23 0281 Els FE 46 7.14 TEETIETFHE JB/ 2013 | =B
60m M50 1 7.87 +1.0| 27 1159 iE Ez 52 7.14 TEE T EFE JB/ith 2013 | £R
60m M50 2 7.87 +0.2| 26 0565 ZH MWHE 52 7.14 T EFE JB/ith 2013 | =B
60m M50 3 8.06 +1.0| 27 1301 =RIE EA 53 7.14 T EFE JB/ith 2013 | =B
60m M50 4 8.15 |+0.2| 25 0742 E R 51 7.14 TEE T EFE JB/ith 2013 | &R
60m M50 5 839 |+1.0| 26 0461 M EE 53 7.14 TEE T EFE JB/ith 2013 | &R
60m M50 6 8.43 +0.2| 29 0389 RAR ER 51 7.14 TV EFE JB/ith 2013 | =B
60m M50 7 8.53 +0.2| 29 0434 A BT 52 7.14 TV EFE JB/ith 2013 | =R
60m M50 8 8.75 +0.2| 28 1085 BEHE R 50 7.14 TV EFE JB/ith 2013 | =R
60m M50 9 888 |[+1.0| 27 1404 BE ¥ 52 7.14 TEE T EFHE JB/ith 2013 | =R
60m M50 | 10 9.20 +0.2| 27 1448 =F ¥FEX 50 7.14 T EFE JB/ 2013 | =R
60m M50 | OP 8.1 +1.0| 24 0345 BE BR 51 7.14 TEE T EFHE JB/ith 2013 | =R
60m M50 DNS 27 1304 BT = 53 7.14 TEE T EFHE JR/ith 2013 | =R
60m M50 DNS 27 0516 = KE 51 7.14 TV EFE JB/ith 2013 | =R
60m M50 DNS 24 0508 #H = 54 7.14 TV EFE JB/ith 2013 | =R
60m M55 1 7.96 -04| 25 0568 KiI B— 59 7.14 TV EFE JB/ith 2013 | =B
60m M55 2 7.98 -04| 28 1102 faF HH{- | 55 7.14 TV ETFE B/t 2013 | =B
60m M55 3 8.13 -04| 28 1080 Fa BA 58 7.14 TV ETFE B/t 2013 | =B
60m M55 4 8.82 -04| 28 1223 Ejgxt IEE 57 7.14 TV ETFE JB/ith 2013 | =B
60m M55 | OP 8.35 -0.4| 36 0280 WE & 56 7.14 eV IERTFHE JB/ith 2013 | =B
60m M60 1 8.65 -25| 27 0166 NI 5 S 62 7.14 TV EFE JB/ith 2013 | =B
60m M60 2 883 |-25| 25 0678 FE EE 62 7.14 TEE R FHE JB/ it 2013 | =B
60m M60 3 9.86 -25| 28 1320 WA IEsSE 63 7.14 TV ETFE JB/ith 2013 | =B
60m M60 | OP 8.16 -25| 20 0073 =t BE 62 7.14 T TIETFE JB/ith 2013 | =B
60m M60 DNS 29 0164 ®Ek B— 64 7.14 TV ETFE JB/ith 2013 | =
60m M60 DNS 29 0426 =l RIE& 61 7.14 TV ETFE JB/ith 2013 | =
60m M60 DNS 29 0436 wH #\1F 60 | 7.14 T RFIE JB/th 2013 | &R
60m M65 1 8.65 +1.0| 26 0247 L EB 67 7.14 TV EFE B/ 2013 | =
60m M65 2 8.82 +1.0| 27 1095 A 65 7.14 TV ETFE JB/ith 2013 | =
60m M65 DNS 26 0650 ZH B4 65 7.14 TV ETFE JB/ith 2013 | =B
60m M70 1 9.02 -0.8| 25 0785 Eilg /8| 70 7.14 TV ETFE B/ 2013 | &R
60m M70 2 9.04 -0.8| 28 0032 Al EZ 71 7.14 TV ETFE B/ 2013 | &R
60m M70 3 9.36 -0.8| 25 0571 =iE & 72 7.14 T ETFE B/ 2013 | =B
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60m M70 4 9.38 -0.8| 28 0874 MAE  FIRS 71 7.14 TEETIETFHE JB/ 2013 | =B
60m M70 5 939 |-08| 27 0224 FH RZ 71 7.14 TEE T EFE JB/ith 2013 | ¥R
60m M70 DNS 26 0732 ME —+K | 71 7.14 T EFE JB/ith 2013 | =R
60m M75 1 9.27 -34| 27 1234 HFAR BT 75 7.14 T EFE JB/ith 2013 | =B
60m M75 2 9.37 -34| 28 0079 LH BB 79 7.14 T EFE JB/ith 2013 | =B
60m M75 3 9.90 -34| 26 0564 WA ® 77 7.14 TV EFE JB/ith 2013 | =B
60m M75 4 1025 [-3.4| 27 0679 MmE g 76 7.14 T EFE JB/ith 2013 | =B
60m M75 5 1042 |-3.4| 29 0315 mA FBE 76 7.14 T EFE JB/ith 2013 | =R
60m M75 | OP 9.26 -34| 23 0074 BE FIE 76 7.14 T TIEFE JB/ith 2013 | =B
60m M80 1 1039 |+2.1| 26 0645 AH Z=E 80 7.14 TV EFE JB/ith 2013 | =R
60m M80 2 1123 [+2.1] 27 1345 =)l BE 84 7.14 TEE T EFE JB/ith 2013 | =R
60m M80 DNS 25 0724 BT =i 80 7.14 TV EFE JB/ith 2013 | =B
60m M80 DNS 29 0007 B FXX | 80 7.14 TEETEFHE JB/ith 2013 | =B
60m M85 1 13.06 |+2.1| 28 0989 BAR gh 87 7.14 T EFE JB/ith 2013 | =B
100m M30 1 1218 |+0.8| 27 1397 HER 2 33 7.14 TV ETFE JB/ith 2013 | =B
100m M30 2 12.18 |+0.8| 25 0835 BB R 30 7.14 TV ETFE JB/ 2013 | =R
100m M30 3 1300 [+0.8| 25 0383 i ME 34 7.14 TV ETFE JB/ 2013 | =R
100m M30 | OP 12.01 |+0.8| 38 0749 5H #A 34 7.14 TV ETFE B/ 2013 | =R
100m M30 DNS 27 1384 bR el Et 34 7.14 TV ETFE B/ 2013 | =B
100m M35 1 1149 |+0.8| 29 0419 ZE EE 36 7.14 TV ETFE JB/ith 2013 | =B
100m M35 2 11.84 |+08| 27 1443 Stayanchi Jason | 35 7.14 T TIETFE B/ 2013 | =B
100m M35 3 1188 [+0.8| 27 1413 Wi &} 37 7.14 TV ETFE B/ 2013 | =R
100m M35 4 1195 |+0.8| 28 0961 #HE 1E(E 39 7.14 TEE R FHE JB/ith 2013 | £RB
100m M35 5 12.03 |+0.8| 27 1329 YHE T¥ 37 7.14 TV ETFE B/ 2013 | =
100m M35 6 1211  |+0.8| 29 0357 BE 2EA 37 7.14 T TIETFE B/ 2013 | =
100m M35 7 1297 |+0.8| 27 1370 HE A 39 7.14 TV ETFE B/ 2013 | =B
100m M35 8 13.05 |+0.8| 27 1432 kRE XA 37 7.14 TV ETFE B/ 2013 | =
100m M35 DNS 28 1121 W & 38 7.14 TV ETFE JB/ith 2013 | =
100m M40 1 1233 |-1.0| 29 0417 Tk 18 42 7.14 TV ETFE JB/ith 2013 | =B
100m M40 2 1253 |-0.3| 27 1318 Bme E 41 7.14 TV ETFE B/ 2013 | =B
100m M40 3 12.64 |-03| 28 1093 af £ 40 7.14 TV ETFE B/ 2013 | &R
100m M40 4 1292 |-03| 27 1321 BH EZ 40 7.14 T ETFE B/t 2013 | =B
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100m M40 5 1342 |[-1.0| 27 1165 ik TE 42 7.14 TV EFE JB/ith 2013 | =B
100m M40 6 1350 [-03| 27 1217 hE #— 41 7.14 eV IEFHE JB/ 2013 | =B
100m M40 | OP 1245 |-1.0| 22 0816 KE L& 40 7.14 T EFE JB/ith 2013 | =B
100m M40 DNS 27 1337 EH EEsh 43 7.14 eV IETFHE JB/ 2013 | =B
100m M40 DNS 30 0966 NE EE# 41 7.14 eV ETFHE JB/ith 2013 | =B
100m M40 DNS 22 0970 A2 X 40 7.14 TEE T EFE B/t 2013 | &R
100m M45 1 1176 |[+1.5| 27 1263 LW HEIER 47 7.14 TV EFE JB/ith 2013 | =B
100m M45 2 1237 |-1.2| 25 0732 BEAR £T 46 7.14 TV EFE JB/ 2013 | =R
100m M45 3 1252 |-1.2] 27 1187 AT BZ 45 7.14 TV EFE JB/ith 2013 | =R
100m M45 4 1262 |+1.5| 27 0792 BE =X 48 7.14 TEE R FHE JB/ith 2013 | =R
100m M45 5 1265 |+1.5| 29 0375 A8 =t 49 7.14 T EFE JB/ 2013 | =R
100m M45 6 1265 |-1.2| 25 0660 I 46 7.14 TV EFE JB/ 2013 | =R
100m M45 7 1274  |+15| 27 1369 B EERS 48 7.14 TEE T EFE JB/ith 2013 | =R
100m M45 8 1276 |-1.2| 27 1456 B #os=E 45 7.14 TV EFE JB/ 2013 | =R
100m M45 9 1298 |+1.5| 25 0674 E— 49 7.14 T EFE JB/ith 2013 | =R
100m M45 10 1330 |-1.2| 25 0755 JEA Bz 45 7.14 TV ETFE B/ 2013 | =B
100m M45 | 11 1346 |+15| 28 1316 FEF OIEE 47 7.14 TV ETFE B/ 2013 | =R
100m M45 12 1406 |-1.2| 26 0469 e — 47 7.14 TV ETFE B/ 2013 | =B
100m M45 13 1438 |-1.2| 26 0573 =L Bz 47 7.14 TV EFE B/ 2013 | =B
100m M45 | OP 1194 |+15 23 0281 Bi% FE 46 7.14 T TIETFE B/ 2013 | =B
100m M45 | OP 1264 |+15| 22 0835 fBk HEEZFE | 46 7.14 TV ETFE JB/ 2013 | =R
100m M45 | OP 1284 |+15| 24 0648 HE& BE 46 7.14 TV EFE B/ 2013 | =R
100m M45 DNS 28 1312 =R EE 46 7.14 TV ETFE JB/ith 2013 | =B
100m M50 1. 12.42 |-0.7| 27 1159 g Bz 52 7.14 TV ETFE JB/ith 2013 | =B
100m M50 2 1247 |+06| 26 0565 TH WHE 52 7.14 TV ETFE B/ 2013 | %=
100m M50 3 1250 |+0.6| 26 0560 R &= 51 7.14 TV ETFE B/ 2013 | =
100m M50 4 1285 |-0.7| 27 1301 =EIE BA 53 7.14 T TIETFE B/ 2013 | =B
100m M50 5 13.07 |+0.6| 25 0742 HE F% 51 7.14 T IETFE B/ 2013 | =
100m M50 6 1336 |+0.6| 27 0516 HE HE 51 7.14 TE R FHE B/ 2013 | &
100m M50 7 1347 |+06| 29 0389 RA #ER 51 7.14 T RFIE JB/ith 2013 | £RB
100m M50 8 13.64 |+0.6| 29 0434 =8 BT 52 7.14 TV ETFE B/ 2013 | &R
100m M50 9 1386 |+0.6| 28 0559 = AR 52 7.14 TV ETFE JB/ith 2013 | =B
100m M50 | 10 1397 |-0.7| 27 1404 HE E 52 7.14 T ETFE B/t 2013 | =R
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100m M50 | 11 1407 [-0.7| 27 1202 INK SR 54 7.14 TEE T EFE JB/ith 2013 | ¥R
100m M50 | OP 1261 |-0.7| 37 0335 L g= 51 7.14 TEE T EFE JB/ith 2013 | £R
100m M50 | OP 1263 |-0.7| 24 0345 EE AR 51 7.14 T EFE JB/ith 2013 | =B
100m M50 | OP 1294 |-0.7| 24 0541 =EH E— 51 7.14 T EFE JB/ith 2013 | =B
100m M50 DNS 27 1304 Bt = 53 7.14 T EFE JB/ith 2013 | =R
100m M50 DNS 28 1332 = N 7 52 7.14 T EFE JB/ith 2013 | =B
100m M50 DNS 24 0508 #H = 54 7.14 T EFE JB/ith 2013 | =R
100m M55 1 1268 |+0.6| 25 0568 XiI B— 59 7.14 T EFE JB/ith 2013 | =R
100m M55 2 1274 |-04| 28 1102 i HH{= | 55 7.14 TV EFE JB/ith 2013 | =R
100m M55 3 1312 |+0.6| 28 1080 b B 58 7.14 TV EFE JB/ith 2013 | =R
100m M55 4 1328 |-04| 27 0329 FE 288 55 7.14 T EFE JB/ith 2013 | =R
100m M55 5 1407 |+0.6| 28 0898 Fft 15 56 7.14 TV EFE JB/ 2013 | =R
100m M55 6 1409 |-04| 28 1223 Ex IEE 57 7.14 TV EFE JB/ith 2013 | =B
100m M55 7 1489 |-04| 27 1451 EAH M= 55 7.14 TV EFE JB/ith 2013 | =B
100m M55 | OP 1332 |+06| 36 0280 L 56 7.14 TEETIEFHE JB/ith 2013 | =R
100m M55 | OP 1335 [+0.6| 23 0085 WA EEiE 57 7.14 TV ETFE B/ 2013 | =R
100m M55 | OP 1345 |+0.6| 19 0207 ML BRR | 58 7.14 TV ETFE JB/ith 2013 | =B
100m M55 DNS 27 0331 AR RE 57 7.14 TV ETFE JB/ith 2013 | =B
100m M60 1 1358 |+1.3| 27 0166 NI 5 S 62 7.14 TV ETFE JB/ith 2013 | =B
100m M60 2 1359 |[+1.3| 26 0167 =| 5 62 7.14 TV ETFE JB/ith 2013 | =B
100m M60 3 1396 |[+1.3| 27 1372 B8R F— 62 7.14 TV EFE B/ 2013 | =R
100m M60 4 1407 |+1.3| 25 0678 FE EE 62 7.14 TEE R FHE JB/ith 2013 | £RB
100m M60 5 1414 |[+15| 29 0436 wH #F 60 7.14 TEE R FHE JB/ith 2013 | £RB
100m M60 | OP 1241  |+15| 20 0073 =8 BE 62 7.14 T IETFE B/ 2013 | =B
100m M60 | OP 1296 |+1.5| 23 0254 M 2 60 7.14 TV ETFE JB/ith 2013 | =
100m M60 | OP 1313 |+1.5| 24 0471 AR & 63 7.14 T TIETFE B/ 2013 | =
100m M60 | OP 13.70 | +1.5| 24 0478 e E4&E 63 7.14 TV ETFE B/ 2013 | =B
100m M60 | OP 1480 |+1.5| 22 1002 NI RF 61 7.14 TV ETFE JB/ith 2013 | =
100m M60 DNS 29 0164 ®Ek B— 64 7.14 TV ETFE JB/ith 2013 | =
100m M60 DNS 27 1057 EH &R 62 7.14 T RFIE JB/th 2013 | £RB
100m M60 DNS 25 0297 max JE= 62 7.14 TV ETFE JB/ith 2013 | =B
100m M60 DNS 29 0426 =l K& 61 7.14 TV ETFE JB/ith 2013 | =B
100m M65 1 1352 |-0.7| 26 0247 i EB) 67 7.14 T ETFE B/ 2013 | =B
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100m M65 2 1395 [-0.7| 27 1066 BE BX 65 7.14 TEETIETFHE JB/ 2013 | =B
100m M65 3 1483 |-0.7| 27 0228 Bfd £ 65 7.14 T EFE JB/ith 2013 | =B
100m M65 DNS 28 1118 KEd #2T 65 7.14 T EFE JB/ith 2013 | =B
100m M65 DNS 26 0650 ZH B4E 65 7.14 T EFE JB/ith 2013 | =B
100m M70 1 1425 |+1.3| 25 0785 B 8| 70 7.14 TEE T EFE JB/ith 2013 | &R
100m M70 2 1440 |+1.3| 28 0032 Al BEZ 71 7.14 T EFE JB/ith 2013 | =B
100m M70 3 1478 |+1.3| 25 0571 BiE & 72 7.14 TEE T EFHE JB/ith 2013 | &R
100m M70 4 1489 |+1.3| 27 0224 FH XK= 71 7.14 TEE T EFE JB/ith 2013 | =R
100m M70 5 1490 |[+1.3| 27 0964 #AK Bf 72 7.14 TEE T EFE JB/ith 2013 | =R
100m M70 6 1588 |+1.3| 27 0479 =8 BER 74 7.14 TEE R FHE JB/ith 2013 | =R
100m M70 DNS 28 0803 R X 71 7.14 TV EFE JB/ 2013 | =B
100m M75 1 1483 |+0.3| 27 1234 FA BT 75 7.14 TEE T EFE JB/ith 2013 | =R
100m M75 2 1501 |+0.3| 28 0079 L5 BB 79 7.14 TV EFE JB/ith 2013 | =B
100m M75 3 16.02 |+0.3| 25 0564 WA ® 77 7.14 TV EFE JB/ith 2013 | =R
100m M75 4 16.15 |+0.3| 27 0679 B EiE 76 7.14 TEE T EFE JB/ith 2013 | =R
100m M75 | OP 1459 |+0.3| 23 0074 P EtiE 76 7.14 T IETFE B/t 2013 | =B
100m M80 1 16.53 |[+0.9| 29 0124 i BX 81 7.14 TV ETFE B/ 2013 | =R
100m M80 2 16.96 |+0.9| 26 0138 )l & 81 7.14 TEETETFE B/ 2013 | =R
100m M80 3 16.99 [+0.9| 26 0645 AH =E 80 7.14 TV ETFE B/ 2013 | =R
100m M80 4 1761 [+09| 27 1345 =)l BE 84 7.14 TEE R FHE JB/ith 2013 | £RB
100m M80 DNS 25 0724 BT =i 80 7.14 TV ETFE JB/ith 2013 | =B
200m M30 1 2541 |+0.2| 27 1397 HER 33 7.14 TV EFE B/ 2013 | =R
200m M30 | OP 2458 |+0.2| 38 0749 SEHFBHA 34 7.14 TV ETFE B/ 2013 | =R
200m M30 DNS 27 1384 e st 34 7.14 TE R FHE JB/ith 2013 | &=
200m M35 1 2441 |+0.3| 27 1443 Stayanchi Jason | 35 7.14 T IETFE B/ 2013 | =
200m M35 2 2580 |+0.3| 27 1329 YHE T¥ 37 7.14 TV ETFE B/ 2013 | =B
200m M35 DNS 28 1121 M & 38 7.14 TV ETFE JB/ith 2013 | =
200m M35 DNS 28 0961 HH 1E{E 39 7.14 e IRFHE JB/ith 2013 | =
200m M35 DNS 27 1370 EHHE BEA 39 7.14 TV ETFE B/ 2013 | &R
200m M35 DNS 27 1293 BAR ZF 39 7.14 T RFIE JB/ith 2013 | £RB
200m M40 1 2474 |+09| 29 0417 Tk 18 42 7.14 TV ETFE B/ 2013 | =R
200m M40 2 2483 |+0.9| 28 0821 TH FH—ER | 44 7.14 T ETFE JB/ith 2013 | =R
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200m M40 3 2626 |+0.9] 27 1318 (il 41 7.14 TEE T EFE JB/ith 2013 | &R
200m M40 | OP 2506 |+0.9| 22 0816 KE L& 40 7.14 TEE T EFE JB/ith 2013 | &R
200m M40 DNS 27 1165 ik TE 42 7.14 T EFE JB/ith 2013 | =B
200m M40 DNS 25 0815 =mE Bt 44 7.14 T EFE JB/ith 2013 | =B
200m M40 DNS 22 0970 A2 X 40 7.14 TEE T EFE JB/th 2013 | £R
200m M45 1 2407 |+05| 27 1263 WHE IEFM 47 7.14 T EFE JB/ith 2013 | =B
200m M45 2 2591 |+05| 25 0660 I B2 46 7.14 TEE T EFE JB/ith 2013 | &R
200m M45 3 26.74 |+05| 25 0674 B oE— 49 7.14 TEE T EFHE JB/ith 2013 | =R
200m M45 4 2757 |+05| 27 0792 BE =X 48 7.14 TEE T EFE JB/ith 2013 | =R
200m M45 | OP 2447 |-03| 23 0281 BiE FIE 46 7.14 MR RFIE JB /it 2013 | =B
200m M45 | OP 2665 |-0.3| 22 0835 sk HEZE | 46 7.14 T EFE JB/ 2013 | =R
200m M45 DNS 26 0469 o — 47 7.14 TV EFE JB/ith 2013 | =R
200m M45 DNS 27 1187 AT BZ 45 7.14 TV EFE JB/ith 2013 | =B
200m M45 DNS 40 0688 x5 B 45 7.14 T EFE JB/ith 2013 | =B
200m M50 1 25.70 00| 26 0565 ZH WHE 52 7.14 TV EFE JB/ 2013 | =R
200m M50 2 2597 |-25| 27 1159 g Bz 52 7.14 TV ETFE JB/ith 2013 | =B
200m M50 3 2691 |-25| 27 1301 fRIBEE A 53 7.14 TV ETFE JB/ith 2013 | =B
200m M50 4 2940 |-25| 27 1202 INR R 54 7.14 TV ETFE JB/ 2013 | =B
200m M50 | OP 2552 |-25| 37 0335 M g 51 7.14 TV ETFE B/ 2013 | =R
200m M50 | OP 2682 |-25| 24 0541 =H E— 51 7.14 TV ETFE JB/ith 2013 | =B
200m M50 DNS 25 0708 # HE 50 7.14 TEETIERTFHE JB/ith 2013 | =B
200m M50 DNS 25 0742 BE R 51 7.14 T IEFE JB/ith 2013 | =B
200m M50 DNS 27 0516 = KE 51 7.14 TV EFE JB/ith 2013 | =B
200m M50 DNS 29 0389 RA #ER 51 7.14 TEE R FHE JR/ith 2013 | £RB
200m M50 DNS 28 1332 =R R 52 7.14 TV ETFE B/ 2013 | &
200m M50 DNS 24 0508 #H = 54 7.14 TV ETFE JB/ith 2013 | =
200m M55 1 26.07 |+1.9| 28 1102 faF BH{= | 55 7.14 TV ETFE B/ 2013 | =B
200m M55 2 2626 |+1.2| 25 0568 KiI B— 59 7.14 TV ETFE JB/ith 2013 | =
200m M55 3 2721 |+1.2] 28 1080 A BA 58 7.14 TE R FHE JB/ith 2013 | &=
200m M55 4 2926 |+1.9| 28 1223 Ejt IEE 57 7.14 TV ETFE B/ 2013 | &R
200m M55 5 3090 |+1.9] 28 0898 hF 15 56 7.14 TV ETFE JB/ith 2013 | =B
200m M55 | OP 2726 |+1.2] 19 0207 /INLE BRR | 58 7.14 TV ETFE JB/ith 2013 | =B
200m M55 | OP 2750 |+1.2]| 23 0085 WA BEE 56 7.14 R EFHE B/ 2013 | =B
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200m M55 DNS 27 0331 AR RE 57 7.14 TV EFE JB/ith 2013 | =B
200m M55 DNS 27 0542 ErK Bz | 57 7.14 T EFE JB/ith 2013 | =B
200m M60 1 2845 |+04| 26 0167 =R 7 62 7.14 T EFHE JB/ith 2013 | =B
200m M60 2 2956 | +0.4| 25 0678 FE EE 62 7.14 T EFE JB/ith 2013 | =B
200m M60 3 2985 |+04| 25 0297 i = 63 7.14 TEE T EFE JB/ith 2013 | &R
200m M60 4 2998 |+04| 27 1372 BER F— 62 7.14 TEE T EFE JB/ith 2013 | &R
200m M60 | OP 2669 |+04| 23 0254 Wiy 22 60 7.14 TEE T EFHE JB/ith 2013 | &R
200m M60 | OP 2799 |+04| 24 0478 wep &&E 63 7.14 TV EFE JB/ 2013 | =R
200m M60 | OP 3161 |+04| 22 1002 NI RS 61 7.14 TEE T EFE JB/ith 2013 | =R
200m M60 DNS 29 0164 ®Ek B— 64 7.14 T EFE JB/ith 2013 | =B
200m M60 DNS 27 1057 EH &M 62 7.14 T EFE JB/ 2013 | =R
200m M60 DNS 24 0471 BER % 63 7.14 TV EFE JB/ith 2013 | =R
200m M65 1 2857 |+0.2| 26 0247 L EBg 67 7.14 TV EFE JB/ 2013 | =B
200m M65 2 2916 | +0.2| 27 1066 BE #X 65 7.14 TEE T EFE JB/ith 2013 | =R
200m M65 3 3154 |+0.2| 27 0228 Bfd £ 65 7.14 TV EFE JB/ 2013 | =R
200m M65 DNS 28 1118 Ked #2T 65 7.14 TV ETFE JB/ith 2013 | =B
200m M70 1 3088 |+1.0 28 0803 Ky BX 71 7.14 TV ETFE B/ 2013 | =R
200m M70 2 31.63 |[+1.0| 27 0964 K BA 72 7.14 TV ETFE B/t 2013 | =B
200m M70 3 3220 |+1.0| 27 0224 FH X 71 7.14 TV ETFE B/ 2013 | =R
200m M70 4 3292 |+1.0| 27 0479 =8 R 74 7.14 TV EFE B/ 2013 | =R
200m M70 DNS 28 0032 Al BZ 71 7.14 TV ETFE JB/ith 2013 | =B
200m M70 DNS 27 1002 BH #BA 72 7.14 TV EFE JB/ith 2013 | =B
200m M75 1 3149 |+20 28 0079 L% BB 79 7.14 TV ETFE B/ 2013 | =R
200m M75 2 3499 |+20| 27 0679 MEF EiE 76 7.14 TV ETFE B/ 2013 | =R
200m M75 | OP 3044 |+20| 23 0074 ] EtiE 76 7.14 T IETFE B/ 2013 | =
200m M75 | OP 4355 |+20| 33 0206 EFE Eth 79 7.14 TV ETFE B/ 2013 | =
200m M80 1 36.84 |+20| 29 0124 I BX 81 7.14 TV ETFE JB/ith 2013 | =B
400m M30 1 53.36 28 1262 Tk e 31 7.14 TV ETFE JB/ith 2013 | =
400m M35 1 54.93 28 0961 EH 1EE 39 7.14 T TIETFE B/ 2013 | &R
400m M35 2 55.38 27 1293 BAR Z 39 7.14 T RFIE JB/ith 2013 | £RB
400m M35 3 58.16 27 1443 Stayanchi Jason | 35 7.14 T TIETFE B/ 2013 | &R
400m M40 1 56.43 29 0417 HK 18 42 7.14 T ETFE B/t 2013 | =B
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400m M40 2 57.74 30 0893 B E=E 42 7.14 TV EFE JB/ith 2013 | =B
400m M40 3 1.04.20 28 1204 HE E— 42 7.14 T EFE JB/ith 2013 | =B
400m M40 | OP 55.67 22 0816 KE L& 40 7.14 T EFE JB/ith 2013 | =B
400m M40 DNS 27 1217 hE #— 41 7.14 eV IETFHE JB/ 2013 | =B
400m M45 1 55.57 27 1263 WHE IEFM 47 7.14 T EFE JB/ith 2013 | =B
400m M45 2 57.23 26 0531 H & 45 7.14 T EFE JB/ith 2013 | =B
400m M45 3 58.65 25 0795 FR K— 48 7.14 TV EFE JB/ith 2013 | =B
400m M45 DNS 40 0688 x5 B 45 7.14 TV EFE JB/ith 2013 | =R
400m M50 | OP 55.61 37 0335 b gz 51 7.14 TEE T EFE JB/ith 2013 | =R
400m M50 DNS 28 1332 =R R 52 7.14 TV EFE JB/ith 2013 | =R
400m M50 DNS 29 0424 Mok BRI 52 7.14 T EFE JB/ith 2013 | =R
400m M55 | OP 1.02.80 23 0085 E Yy 56 7.14 TV EFE JB/ 2013 | =R
400m M55 DNS 27 0716 INE B 58 7.14 TV EFE JB/ 2013 | =B
400m M55 DNS 28 0040 EH 58 7.14 TV EFE JB/ith 2013 | =R
400m M60 1 1.06.80 27 0578 #E BA| 61 7.14 TV EFE JB/ 2013 | =R
400m M60 2 1.08.95 25 0297 max JE= 63 7.14 TV ETFE JB/ith 2013 | =B
400m M60 | OP 1.05.46 23 0254 HE 2 60 7.14 TV ETFE JB/ith 2013 | =B
400m M60 | OP 1.05.68 24 0478 e E4&E 63 7.14 TV ETFE B/t 2013 | =B
400m M65 1 1.06.26 27 1066 BE #X 65 7.14 TEE R FHE JR/ith 2013 | £RB
400m M65 2 1.06.56 27 1240 e EX 65 7.14 TV EFE JB/ith 2013 | =B
400m M65 3 1.12.29 28 1282 EH EA 65 7.14 TV ETFE JB/ 2013 | =R
400m M70 1 1.09.02 28 0803 K BX 71 7.14 TV ETFE JB/ 2013 | £RB AEH
400m M70 2 1.14.69 26 0029 J\H % 74 7.14 TV ETFE JB/ith 2013 | =B
400m M75 1 1.31.07 25 0011 INFK 1B 75 7.14 TV ETFE B/ 2013 | =R
400m M75 2 1.33.07 27 1166 g BE 78 7.14 TV ETFE JB/ith 2013 | =
400m M80 DNS 26 0138 e & 81 7.14 TV ETFE JB/ith 2013 | =
800m M30 1 2.01.69 28 1262 Tk it 31 7.14 TV ETFE JB/ith 2013 | =
800m M35 1 2.27.36 28 1169 Wmig {A 38 7.14 TV ETFE B/ 2013 | %=
800m M45 1 2.06.39 27 1245 # BT 45 7.14 T TIETFE B/ 2013 | &R REH
800m M45 2 2.10.80 26 0531 A = 45 7.14 TV ETFE B/ 2013 | &R
800m M45 3 2.16.85 27 1310 FRE FEsE 49 7.14 TV ETFE JB/ 2013 | =R
800m M45 4 2.22.36 28 1334 BR BUA 46 7.14 T ETFE B/ 2013 | =R
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800m M45 5 2.26.08 27 1408 o)l HERd 48 7.14 TV EFE JB/ith 2013 | =B
800m M45 6 2.26.64 28 0575 WF &— 48 7.14 T EFE JB/ith 2013 | =B
800m M45 DNS 27 1439 niE FEB 46 7.14 T EFE JB/ith 2013 | =R
800m M50 1 2.33.72 27 0949 ANE RE 50 7.14 T EFE JB/ith 2013 | =B
800m M55 1 2.27.20 28 0259 X &R 58 7.14 T EFE JB/ith 2013 | =B
800m M55 2 2.30.79 28 1189 X¥ & 57 7.14 T EFE JB/ith 2013 | =B
800m M55 3 2.37.14 27 1191 BO #5 55 7.14 T TIEFE JB/ 2013 | =B
800m M55 4 2.40.55 26 0694 AR ZBf 57 7.14 TEE T EFE JB/ith 2013 | =R
800m M55 DNS 27 0716 INE B 58 7.14 TV EFE JB/ith 2013 | =R
800m M55 DNS 28 0040 EH 58 7.14 TV EFE JB/ith 2013 | =R
800m M60 1 2.3155 29 0128 KAl X 60 7.14 TV EFE JB/ith 2013 | =R
800m M60 2 2.34.42 27 0587 #E BA| 61 7.14 T EFE JB/ith 2013 | =R
800m M60 3 2.46.31 28 1026 By E% 61 7.14 TV EFE JB/ith 2013 | =B
800m M60 4 2.50.75 29 0064 FE 12 60 7.14 TEE T EFE JR/ith 2013 | =R
800m M60 5 25817 26 0095 S BESE 64 7.14 TV EFE JB/ith 2013 | =R
800m M60 DNS 26 0643 MR —H 64 7.14 TV ETFE JB/ith 2013 | =B
800m M65 1 2.43.42 28 1282 EH &A 65 7.14 TV ETFE JB/ 2013 | =R
800m M65 2 2.46.19 27 1240 e #X 65 7.14 TV ETFE JB/ith 2013 | =B
800m M65 3 2.48.31 26 0634 5H FX 65 7.14 TV ETFE JB/ith 2013 | =B
800m M70 1 2.50.48 29 0054 I 71 7.14 TV EFE B/ 2013 | =R
800m M70 2 2.56.07 26 0216 GER NE 73 7.14 TV ETFE B/ 2013 | =B
800m M70 3 25743 26 0029 J\H % 74 7.14 TV ETFE B/ 2013 | =B
800m M70 4 3.03.54 28 0394 ¥iE IEX 70 7.14 TV EFE B/ 2013 | =B
800m M75 1 2.52.63 26 0350 B2E BZ 75 7.14 TV ETFE B/ 2013 | £RB AEH
800m M75 2 3.10.16 27 0958 HFT =ZHE | 75 7.14 TV ETFE JB/ith 2013 | =
800m M75 3 3.12.98 25 0011 INGK B 75 7.14 TV ETFE B/ 2013 | %=
800m M80 1 3.31.92 28 0014 WA & 81 7.14 % EFHE JB/ it 2013 | =B
800m M80 2 3.34.95 30 0457 Il @EE] 83 7.14 TV ETFE B/ 2013 | =
1500m M35 DNS 28 1169 wiE AA 38 7.14 T RFIE JB/ith 2013 | £RB
1500m M40 1 43444 28 1284 wE EE 41 7.14 T IETFE B/ 2013 | &R
1500m M40 | OP 431,62 24 0574 #T FA 42 7.14 T TIETFE B/ 2013 | &R
1500m M45 1 4.46.47 27 1310 R RS 49 7.14 T ETFE B/ 2013 | =R
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1500m M45 2 4.48.06 26 0703 ® TE 45 7.14 T EFE JB/ith 2013 | =B
1500m M45 3 4.58.68 27 1462 =5 ER 48 7.14 TV EFE JB/ith 2013 | =B
1500m M45 4 5.02.16 28 1224 % Ex 47 7.14 T EFE JB/ith 2013 | =B
1500m M45 5 5.06.00 28 1334 R 8Ua 46 7.14 T EFE JB/ith 2013 | =B
1500m M45 6 5.16.02 27 1439 niE FEB 46 7.14 T EFE JB/ith 2013 | =B
1500m M45 7 5.46.99 27 1245 H BT 45 7.14 TV EFE JB/ith 2013 | =B
1500m M45 DNS 28 0575 WF &— 48 7.14 T EFE JB/ith 2013 | =B
1500m M50 1 4.31.63 27 1461 B H1 50 7.14 eV IEFHE JB/ith 2013 | =R
1500m M50 2 5.04.03 27 0949 ANE ®E 50 7.14 T EFE JB/ 2013 | =R
1500m M55 1 5.09.28 28 0259 X &R 58 7.14 T EFE JB/ 2013 | =R
1500m M55 2 5.34.59 26 0710 RKAR EX | 59 7.14 T EFE JB/ith 2013 | =R
1500m M55 3 5.41.87 27 0487 BRR HE 59 7.14 TV EFE JB/ 2013 | =B
1500m M55 4 5.43.78 26 0694 AR 2B 57 7.14 TEE T EFE JB/ith 2013 | =R
1500m M55 DNS 25 0176 W Z&E 56 7.14 TV EFE JB/ 2013 | =R
1500m M60 1 6.21.66 26 0095 SR K= 64 7.14 TV EFE JB/ith 2013 | =R
1500m M60 DNS 27 0135 FHE BB 63 7.14 TV ETFE JB/ith 2013 | =B
1500m M65 1 5.57.16 28 1282 EH BA 65 7.14 TV ETFE JB/ 2013 | =R
1500m M65 6.23.37 29 0295 ABS KBy | 67 7.14 TV ETFE JB/ 2013 | =R
1500m M65 DNS 28 0215 IO s 66 7.14 TV ETFE JB/ 2013 | =R
1500m M70 1 6.09.00 26 0216 EZNAY; 73 7.14 TV ETFE JB/ 2013 | =R
1500m M70 2 6.35.26 28 0394 ¥iE EX 70 7.14 TV ETFE B/t 2013 | =B
1500m M75 1 6.05.98 26 0350 B2E BZ 75 7.14 TV ETFE B/ 2013 | =R
1500m M75 2 7.01.01 25 0011 Ay S 75 7.14 TV ETFE B/ 2013 | =R
1500m M80 1 7.4553 30 0457 )l RaE 83 7.14 TV ETFE JB/ 2013 | =R
1500m M80 DNS 28 0014 WA & 81 7.14 T IETFE B/ 2013 | =
1500m M80 DNS 26 0138 el % 81 7.14 TEETETFE B/ 2013 | =
3000m M40 1 11.04.60 28 1295 AT i 43 7.14 TEE R FHE JB/ith 2013 | Z=
3000m M45 1 10.14.33 28 0678 R 2& 46 7.14 T IETFE B/ 2013 | =
3000m M45 2 10.24.54 26 0549 Bi E— 48 7.14 TV ETFE JB/ith 2013 | =B
3000m M45 3 10.36.31 26 0703 ® TE 45 7.14 TEETETFE JB/ith 2013 | =B
3000m M45 4 10.46.30 28 1224 &H Ex 47 7.14 TV ETFE JB/ith 2013 | =B
3000m M45 5 11.17.33 27 1152 # B 46 7.14 T ETFE B/t 2013 | =R
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3000m M45 6 11.27.20 30 1306 hf B2 47 7.14 TV EFE JB/ith 2013 | =B

3000m M45 7 12.46.56 27 1414 WEE—ER 45 7.14 T EFHE JB/ith 2013 | =B

3000m M50 1 9.34.28 28 0750 a5 E 50 7.14 TV EFE JB/ith 2013 | =B AKEH
3000m M50 2 9.36.97 27 1461 HE T 50 7.14 T EFE JB/ith 2013 | =B KEH
3000m M50 3 10.23.59 27 0915 WA 54 7.14 T EFE JB/ith 2013 | =B KEH
3000m M50 4 10.44.61 27 0949 ANE RFE 50 7.14 T EFE JB/ith 2013 | =B

3000m M50 DNS 28 1072 =F XE 50 7.14 T EFE JB/ith 2013 | =B

3000m M60 10.49.73 26 0190 nwK —2 62 7.14 T TIETFE JB/ith 2013 | =B RE&EH
3000m M60 2 10.50.06 28 1026 By E% 61 7.14 T EFE JB/ith 2013 | =R K&
3000m M60 DNS 27 0315 FH HBE 63 7.14 T EFE JB/ith 2013 | =R

3000m M65 1 13.02.41 27 0833 A& —X 67 7.14 T EFE JB/ith 2013 | =R

3000m M70 1 12.20.95 29 0054 I 71 7.14 TV EFE JB/ith 2013 | =B AKEH
3000m M75 1 14.37.71 27 0958 HFT =H5%E | 75 7.14 TV EFE JB/ith 2013 | =B K&
5000m M40 | OP | 16.52.61 24 0574 H#T&EAR 42 7.14 TV EFE JB/ith 2013 | =R

5000m M45 1 17.0135 28 0678 B OEE 46 7.14 TV ETFE JB/ith 2013 | =B

5000m M45 2 18.57.64 26 0547 E B 47 7.14 T TIETFE B/ 2013 | =B

5000m M45 3 19.11.85 30 1306 i B2 47 7.14 TV ETFE JB/ith 2013 | =B

5000m M45 4 19.40.62 27 1152 # a8t 46 7.14 T IETFE B/ 2013 | =B

5000m M50 DNS 28 1176 Ll ghZR 50 7.14 TV ETFE B/ 2013 | =B

5000m M50 DNS 28 0750 5 = 50 7.14 TV ETFE JB/ 2013 | =R

5000m M55 1 19.11.19 26 0710 RKAR EX | 59 7.14 TV ETFE JB/ith 2013 | =B

5000m M55 2 21.08.69 27 0487 BRIR HE 59 7.14 TV ETFE JB/ith 2013 | =B

5000m M60 1 19.07.54 28 1026 Bi E®E 61 7.14 TV ETFE B/ 2013 | =B

5000m M60 2 215117 25 0085 HE BX 60 7.14 TV ETFE JB/ith 2013 | =

5000m M60 DNS 29 0426 =l RIE& 61 7.14 T IETFE B/ 2013 | =

5000m M65 1 20.20.40 27 0176 BEE i 69 7.14 TV ETFE JB/ith 2013 | =B

5000m M65 2 22.52.73 30 0967 BE ER 65 7.14 T TIETFE B/ 2013 | =

5000m M65 3 23.40.55 29 0295 ABE XB1 | 67 7.14 T IETFE B/ 2013 | =

5000m M65 DNS 28 0215 IO Es 66 7.14 TV ETFE B/t 2013 | =R

5000m M70 1 23.22.26 26 0094 ZE B= 73 7.14 TV ETFE JB/ith 2013 | =B

5000m M70 2 25.23.78 27 0027 HA &Esh 72 7.14 TV ETFE B/ 2013 | &R

5000m M75 1 27.37.51 27 1166 hlE BE 78 7.14 T ETFE B/t 2013 | =B
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80mH M70 1 1462 |-1.0| 26 0039 FAFF ShAE 71 7.14 TV EFE JB/ith 2013 | =B AKEH
80mH M70 DNS 27 1002 BH #BA 72 7.14 T EFE JB/ith 2013 | =B
80mH M75 DNS 27 0848 REE I 78 7.14 T EFE JB/ith 2013 | &
80mH M75 DNS 29 0315 BA EBE 76 7.14 T EFE JB/ith 2013 | &
80mH M80 1 2014 |+15| 26 0034 R £5 80 7.14 e TIETFHE JB/ith 2013 | &=
80mH M80 DNS 25 0724 BT & 80 7.14 T EFE JB/ith 2013 | &
100mH M50 1 1626 |-1.2| 26 0560 R &= 51 7.14 TV EFE JR/ith 2013 | =B
100mH M50 2 18.83 |-1.2| 27 1348 B #Eh 53 7.14 TV EFE JB/ i 2013 | &
100mH M50 3 2062 |-1.2| 28 0559 = AR 52 7.14 T EFE JR/ith 2013 | &=
100mH M50 | OP 1657 |-1.2| 24 0345 Ex HBR 51 7.14 T EFE JB/ 2013 | £RB
100mH M55 1 1875 |-44| 28 0212 AH £ 56 7.14 TV EFE JR/ith 2013 | &=
100mH M55 2860 |-44| 27 0428 LB B— 59 7.14 TV EFE JR/ith 2013 | =
100mH M55 DNS 25 0630 He %% 59 7.14 TV EFE JR/ith 2013 | =B
100mH M55 DNS 25 0812 HN B 58 7.14 T TIETFE B/ 2013 | =
100mH M60 1 2003 |-14| 29 0405 W Sz 60 7.14 TV EFE B/ 2013 | =
100mH M60 | OP 1540 |-1.4| 20 0073 B E 62 7.14 eV IERFHE JB/ith 2013 | =B
100mH M60 | OP 1563 |-1.4| 36 0136 BH HE 60 7.14 TV ETFE B/ 2013 | %=
100mH M60 DNS 27 0011 5 EA 64 7.14 TV ETFE JB/ith 2013 | %=
100mH M60 DNS 28 0339 MR BT 61 7.14 TEE R FHE JB/ith 2013 | £RB
100mH M60 DNS 29 0049 Hl EE 60 7.14 TV ETFE JB/ith 2013 | %=
110mH M30 1 18.86 |-1.4| 28 1185 S {58k 33 7.14 TV ETFE B/ 2013 | =B
110mH M30 DNS 27 1367 bk IEFE 33 7.14 TV ETFE JB/ith 2013 | =
110mH M35 1 1756 |-1.4| 27 1413 W &}k 37 7.14 TEETETFE JB/ith 2013 | =
110mH M40 1 1596 |-1.2| 25 0821 M % 41 7.14 TV ETFE JB/ith 2013 | =B XE&H
110mH M40 2 1862 |-1.2| 27 1469 FE 1B 42 7.14 TV ETFE B/ 2013 | =
110mH M40 | OP 1714 |-12| 24 0474 XiR B=E 43 7.14 TV ETFE JB/ith 2013 | =
110mH M40 DNS 26 0726 e FEah 44 7.14 TV ETFE JB/ith 2013 | =B
110mH M45 1 19.09 |-48| 26 0600 LS 3% 49 7.14 TV ETFE JB/ith 2013 | &=
110mH M45 2 1975 |-48| 26 0597 KT i 45 7.14 TV ETFE JB/ 2013 | %=
110mH M45 3 2252 |-48| 26 0573 L Bz 47 7.14 TV ETFE B/ 2013 | =R
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110mH M45 DNS 18 0344 KH RFE 45 7.14 TEE T EFE JB /it 2013 | &R
400mH M30 1 1.10.24 28 1185 A {55k 33 7.14 T EFE JB/ith 2013 | =B
400mH M30 | OP 56.75 34 0850 =K EE 30 7.14 TEE T EFE JB /it 2013 | &R
400mH M40 1 1.03.00 26 0726 g BEsA 44 7.14 TEE T EFE JB/th 2013 | £R
400mH M40 DNS 25 0815 =ERL 44 7.14 T EFE JB/ith 2013 | =B
400mH M40 DNS 27 1299 {RERIEA 40 7.14 T EFE JB/ith 2013 | =R
400mH M45 1 1.05.39 26 0600 e % 49 7.14 T EFE JR/ith 2013 | =B AEH
400mH M50 1 1.14.88 27 1348 BAR #Eh 53 7.14 TV EFE JR/ith 2013 | =R
400mH M50 DNS 26 0390 I ER 52 7.14 TV EFE JR/ith 2013 | =B
3000mW M40 1 18.06.35 28 1280 HE #EX 41 7.14 T EFE JR/ith 2013 | =B
3000mW M45 1 17.34.36 28 1215 I B 48 7.14 TV EFE JR/ith 2013 | =B
3000mW M45 2 22.27.57 25 0732 BEAR £T 46 7.14 TV EFE JR/ith 2013 | =B
3000mW M50 1 17.04.49 27 1044 MW Ht 52 7.14 TV EFE JR/ith 2013 | =B
3000mW M50 2 20.34.88 28 1072 == XE 50 7.14 TV ETFE JB/ith 2013 | =B
3000mW M55 1 18.17.19 27 0345 T8 EZER | 56 7.14 TV ETFE B/ 2013 | =B
3000mW M55 DNS 27 1283 FEEZ 58 7.14 T TIETFE B/ 2013 | =B
3000mW M55 DNS 30 0906 T4 =5k 56 7.14 TV ETFE B/ 2013 | =B
3000mW M60 1 21.28.14 26 0069 Ak 60 7.14 TV ETFE B/ 2013 | =B
3000mW M60 2 22.03.96 29 0049 Hl EE 60 7.14 TV ETFE JB/ith 2013 | =B
3000mW M60 DNS 30 0885 L5 ki 60 7.14 TV EFE JB/ith 2013 | =B
3000mW M65 1 22.03.50 27 1342 FH KX 65 7.14 TV ETFE JB/ith 2013 | =B
3000mW M75 1 22.44.80 30 0847 A = 77 7.14 TV EFE JB/ith 2013 | =B
3000mW M75 2 24.27.49 26 0314 AR @ZBF | 75 7.14 R EFE JB/ith 2013 | &
3000mW M80 1 21.15.15 26 0032 HhiE 84 7.14 TV ETFE JB/ith 2013 | =
EE Bk M35 1 1.65 28 1299 FF & 39 7.14 TEE R FHE JB /it 2013 | Z=
EE Bk M40 1 1.70 29 0420 hF B2z 42 7.14 TEE R FHE JE /it 2013 | Z=
EE Bk M40 2 1.45 25 0813 IR FX 44 7.14 T8 FHE JB/ it 2013 | =B
E =Bk M45 | OP 1.55 18 0344 KH RFE 45 7.14 TV ETFE JB/ith 2013 | =B
E =Bk M50 DNS 30 0900 W BAT 54 7.14 T8 FHE JB/ it 2013 | =B
E =Bk M55 1 1.55 27 1294 22X BE 58 7.14 TEETETFE B/ 2013 | =R
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E =Bk M55 2 1.50 25 0812 #HA 1B 58 7.14 T EFE JB/ith 2013 | =B
E =Bk M55 3 1.40 28 0212 AH B 56 7.14 T EFE JB/ith 2013 | =B
E= Bk M55 4 1.30 26 0590 =K E#H 57 7.14 TEETIETFHE JB/ith 2013 | =B
E =Bk M60 1 1.40 28 0339 MR BZ 61 7.14 T EFE JB/ith 2013 | £R
E =Bk M60 2 1.35 26 0706 i &R 61 7.14 T EFE JB/ith 2013 | =B
E =Bk M60 3 1.35 29 0405 g & 60 7.14 T EFE JB/ith 2013 | =B
E =Bk M60 4 1.20 28 1283 KA BEX | 61 7.14 eV ETFHE JB/ 2013 | =B
EE B M60 5 1.10 29 0064 FE 2 60 7.14 TEE T EFHE JR/ith 2013 | %=
E= Bk M60 | OP 1.30 24 0146 R R 64 7.14 TV EFE JB/ i 2013 | =R
E= Bk M70 1 1.25 26 0039 FAFF ShAE 71 7.14 T EFE JB/ith 2013 | &=
EE Bk M70 2 1.10 28 0508 ¥FH #{- 71 7.14 T EFE JB/ith 2013 | &=
E= Bk M75 1 1.05 27 0848 ¥EE I 78 7.14 TV EFE JB/ 2013 | =R
EE Bk M75 DNS 29 0315 mA FBE 76 7.14 TV EFE JB/ith 2013 | &=
EE Bk M75 DNS 30 0001 Jeith &= 75 7.14 TV EFE JB/ith 2013 | &=
Ea bk M30 DNS 27 1367 i EE 33 7.14 TEE R FHE JB/ it 2013 | =
Ea bk M40 1 3.80 27 1285 == ¥ 40 7.14 TV ETFE JB/ith 2013 | %=
Ea bk M40 2 3.60 30 0886 FR KA 43 7.14 TEE R FHE JB /it 2013 | =B
Ea bk M40 DNS 30 0846 ER FX 42 7.14 R EFHE JB /it 2013 | =
Ea bk M45 | OP 3.80 36 0326 HEF 46 7.14 eV IERFHE JB/ith 2013 | %=
Ea bk M50 1 3.30 28 0431 WH = 52 7.14 T TIETFE B/t 2013 | =B
Bk M50 2 2.30 28 0712 ha 22 54 7.14 TV ETFE JB/ith 2013 | =
Ea bk M55 1 2.00 25 0630 He %% 59 7.14 TV EFE JB/ith 2013 | %=
Ea bk M55 2 2.00 27 1286 BO £= 55 7.14 eV IERTFHE JB/ 2013 | =B
Ea Bk M55 DNS 27 0674 flll &iE 55 7.14 TEETETFE JB/ith 2013 | =
Ea Bk M60 1 2.30 28 0568 R 64 7.14 TV ETFE JB/ith 2013 | =
Ea Bk M60 | OP 2.30 24 0146 Y IRES 64 7.14 TEE R FHE JB/ it 2013 | =B
Ea Bk M70 | OP 2.60 33 0213 A EE 72 7.14 TEETIRFHE JB/ith 2013 | =
Ea Bk M75 1 2.20 27 0848 JE IE 78 7.14 R EFHE JB/ it 2013 | Z=
Ea Bk M75 | OP 1.80 33 0206 FE FEth 79 7.14 TEE R FHE JB/ it 2013 | =B
FE g Bk M35 1 6.61 +1.2| 29 0419 #E EE 36 7.14 T IETFE B/ 2013 | &=
FE g Bk M35 2 5.93 +1.2| 26 0623 X BI: 39 7.14 R EFHE B/ 2013 | =B




BmERA

F2oEA Y RI—XPE L RREEFERR

i3 A 2013%7H814H(RH)

% A ZEHER/ kLRSS XIERLDOPILT B S A S DEF TIBGL R R4+

R DX gtz [ i 8]j |RE|FE| BRES K £ 4| #i8 K& B | EE |HERE| & % |sz=E=
ErE Bk M40 1 656 |+1.4| 29 0388 TE A 40 | 7.4 RHETE JB/ith 2013 | ¥R

ErE Bk M40 2 5.91 +0.8| 28 0821 ZH W | 44 7.14 AT EFE JB/ith 2013 | &R

EE Bk M40 3 586 |-0.9| 28 0735 A —A 44 | 714 RHETE JB/ith 2013 | ¥R

ErE Bk M40 4 563 |-0.9| 30 0846 ER FX 42 | 714 RHETE JB/ith 2013 | ¥R

ErE Bk M40 5 5.61 +2.5| 26 0682 IR X 42 7.14 AT EFE JB/ith 2013 | ®BE | 42 546 (-0.2)
ErE Bk M40 6 5.11 +1.2| 27 1318 as E 41 7.14 AT EFE JB/ith 2013 | &R

ErE Bk M40 7 482 |-0.7| 28 1327 HWE & 44 | 714 REETE JB/ith 2013 | ¥R

ENEBk M40 8 453 |-19| 28 1218 RHE E— 43 7.14 AT EFE B/t 2013 | =R

ENEBk M45 1 547 |+0.8| 27 1406 HE xI 47 7.14 AT EFE B/ 2013 | &R

ENE Bk M45 2 486 |-02| 29 0375 x8 nig 49 | 7.14 REEFE B/t 2013 | ¥R

ENEBk M45 3 428 |+21| 27 1351 hiE X 49 7.14 R EFE B/t 2013 | &£=RB | & 411 (-0.1)
ErEk M45 4 423 |+10| 26 0721 B |EA 49 | 7.14 REETE B/t 2013 | REB

Nz Bk M45 5 414 |-01| 26 0727 %H =5 46 | 714 | EEETEFIE JB/ith 2013 | ¥R

ENEBk M45 | OP 538 |-05| 24 0467 #H RE 46 7.14 AT EFE B/t 2013 | =R

EEEk M45 | OP 507 |-0.1| 18 0344 KH R=E 45 | 7.14 REETFE B/t 2013 | REB

ENEBE M45 DNS 28 1312 =R EE 46 | 714 | AETETFIE B/ 2013 | ER

EEEk M50 1 524 |-18| 28 1273 il PN 50 | 7.14 MEETE JB/ith 2013 | ¥R

ENE Bk M50 2 510 |-0.3| 26 0461 M T 53 | 7.4 | AHVEFE JB/ith 2013 | ¥R

ENE Bk M50 3 470 |+03| 28 1091 He FEif 50 | 714 | GREVEFE B/t 2013 | =R

ENEBk M50 4 435 |+24| 28 1085 BEE R 50 7.14 R EFE JB/ith 2013 | B | & 348 (-1.2)
FE 1 Bk M50 5 419  |+23] 28 0905 NG B 51 7.14 R EFHE JB/ith 2013 | B | &2 410 (-15)
FENE Bk M50 6 415 |-05| 27 1352 SFE EX 51 7.14 R EFE JB/ith 2013 | =R

ENEBE M50 | 7 340  |[+1.1] 27 1353 ZH % 54 | 714 | EETETFIE B/t 2013 | R

EEEk M55 1 530 |+0.8| 27 0329 LA 55 7.14 T EFE JB/ it 2013 | ERB

EE Bk M55 2 508 |+0.7| 25 0812 BN & 58 7.14 T EFE B/ 2013 | &

EE Bk M55 3 481 +0.5| 26 0590 =K E# 57 7.14 AT EFIE 7B/t 2013 | &

ENEBE M55 4 479 |-05| 28 0212 AH & 56 | 714 | GEEEVEFIE B/t 2013 | RB

ENE Bk M55 5 470 |+05| 28 0898 A 15 56 | 714 | EETEFIE JB/ith 2013 | =

EE Bk M55 6 467 |+12] 27 0542 EAKR Bz | 57 7.14 T EFE JB/ 2013 | &

MR Bk M55 | OP 440 |-0.1 36 0280 N 56 | 714 | AETETFIE B/ 2013 | ER

MR Bk M55 DNS 27 0331 AR RE 57 | 714 | AETETFIE B/ 2013 | ER

EE Bk M60 1 505 |-0.3| 27 0011 5B BqEA 64 7.14 ETEFE JB/ it 2013 | £RB

ENE Bk M60 2 454 |+01] 29 0405 g kx 60 | 714 | GREEVEFIE JB/ith 2013 | ¥R




BmERA

F2oEA Y RI—XPE L RREEFERR

B A 2013%7H814H(H)

&% P ZRTER/thE RS XIBRLDOPIL T B S 5 D EF TIBGLX &4+

fEH 95X | g6z | B2 #k |RE| E | BRES K 4 Fh| H8 K& B B | BE (BMEFE| & % |#sEzs
ENRBk M60 3 380 |+0.7| 28 1320 N IEE=E 63 7.14 R EFHE JB/ith 2013 | &R

ErEBk M65 DNS 26 0650 ZH BE 65 7.14 R EFHE JB/ith 2013 | &R

ErEBk M65 DNS 27 1095 P 65 7.14 R EFHE JB/ith 2013 | &R

Nz Bk M70 1 427 |+12] 28 0874 HWE  FIE 71 714 | GREETFE B/t 2013 | =R

ErEBk M75 1 393 |+1.2| 30 0001 B ER 75 7.14 R EFE JB/ith 2013 | &R

ENRBk M80 1 375 |+0.7| 29 0124 i BX 81 7.14 T EFE JB/ith 2013 | &R K&H
Nz Bk M80 2 297 |+1.1| 26 0034 R =5 80 | 714 | EEVEFIE B/t 2013 | =R

ENEBk M80 3 266 |+04| 27 1345 =)l B& 84 7.14 TEE T EFE B/ 2013 | =B

FE g Bk M85 1 263 |+0.3| 28 0989 =ZEA gh 87 7.14 T EFE B/ 2013 | &R

ENEBk M85 2 193 |+08| 28 0651 NG EB 87 7.14 TEE T EFHE B/ 2013 | =B

=Bk M35 1 1188 |+23| 26 0623 ¥ BI= 39 7.14 AT EFE B/ 2013 | ®R |4 1184 (-1.2)
=Rk M40 1 1365 |+1.4| 29 0388 FE T 40 7.14 T EFE B/ 2013 | &R K&H
=Bk M40 | 2 1252 |+2.7| 28 0821 TH W—ER | 44| 714 | EHEETFHE B/ 2013 | RER |4 1208 (+0.1)
=Rk M40 3 1227 |+26| 28 0735 A —A 44 7.14 AT EFE B/ 2013 | B | 1222 (-02)
= ER Bk M40 DNS 28 1217 WE E— 43 714 | EEETHE 75/t 2013 | ®R

=R Bk M45 1 11.08 |-06| 27 1406 A F* 47 7.14 R EFHE B/ 2013 | =B

= ER Bk M45 2 1040 |+0.4| 27 1242 fEcK &Rl | 49 7.14 T EFE JB/ it 2013 | EEB

=23 M50 1 922 |-05| 28 0905 nNg F 51 7.14 REETFE JB/ it 2013 | ¥R

= ER Bk M50 2 792 |-07| 27 1352 SE EX 51 7.14 TEE R FHE B/ 2013 | =R

= ER Bk M55 1 1123 |-13| 27 0329 FE 2NA 55 | 7.4 B ETHE JB/ith 2013 | &R RE#H
=R Bk M55 2 1057 |+06| 27 0542 ERK Bz | 57 7.14 AT EFE B/ 2013 | ERB

=R Bk M55 3 964 |+02| 26 0590 =K E#® 57 7.14 TEE R FHE B/ 2013 | =R

=Bk M60 DNS 27 0011 5B BA 64 | 714 | GREEVEFIE JB/ith 2013 | ¥R

=Bk M65 1 854 |-10| 28 0033 fafE et 68 7.14 IREETE JB/ it 2013 | =

=R Bk M70 1 913 |+24| 28 0874 WH FIB 71 7.14 R EFE JB/ith 2013 | &= 2 902 (-1.1)
=EREk M75 1 844 |+21| 30 0001 Bt EE 75| 714 REETFE JB/ith 2013 | ®BE | 4~ 831 (+1.1)
=Bk Bk M80 1 728 |+14| 26 0034 R =58 80 | 7.14 IREETE T8/t 2013 | =

=Bk M85 1 5.07 -14| 28 0989 EA 8h 87 7.14 TV ETFE B/ 2013 | &

=k M85 2 450 |-21| 28 0651 NG EB 87 7.14 R EFHE B/ 2013 | =R

Fatiz M40 1 9.61 27 1299 Fie EA 40 | 714 | GREEETFIE eyl 2013 | ER 7.26Kg
i M40 2 9.39 27 1296 fAE X 41 7.14 AT EFE B/ 2013 | EB 7.26Kg




BmERA

F2oEA Y RI—XPE L RREEFERR

B A 2013%7H814H(H)

&% P ZRTER/thE RS XIBRLDOPIL T B S 5 D EF TIBGLX &4+

B 95X | g6z | B2 #k |RE| E | BRES K 4 £H) HH K& & Pt FE |MEFE| & REEE
At M40 3 8.93 28 1204 HE E—B | 42 7.14 R EFHE JB/ith 2013 | ¥R 7.26Kg
AL M40 | 4 8.26 25 0565 gL ®RFE 43 | 714 | SEETEFE JB/ith 2013 | =R 7.26Kg
A% M40 5 7.81 29 0393 = 44 | 714 RHETE JB/ith 2013 | ¥R 7.26Kg
A M40 6 5.49 27 1018 Bt F— 42 7.14 R EFHE JB/ith 2013 | ¥R 7.26Kg
Atk M40 DNS 27 1217 hE B 41 714 | EETETFHE eyl 2013 | ER 7.26Kg
A% M45 9.57 29 0396 B 45 | 7.14 R EFE JB/ith 2013 | &R 7.26Kg
A M45 5.84 28 1215 N+ B 48 7.14 R EFHE JB/ith 2013 | ¥R 7.26Kg
A M45 | OP 5.28 17 0325 e Bsth 47 7.14 TEE T EFE B/ 2013 | =R 7.26Kg
iz M45 DNS 24 0.308 INEF BE— 46 7.14 T EFE B/ 2013 | &R 7.26Kg
fahik M45 DNS 24 0445 FH F 46 | 714 | GAETETIE 7B/t 2013 | R 7.26Kg
A M50 1 11.50 28 0922 B EE 53 7.14 TEE T EFE B/ 2013 | =R 6.0Kg
A M50 2 10.24 29 0416 & F=4 51 7.14 AT EFE B/ 2013 | &R 6.0Kg
A% M50 3 7.01 27 1353 Z2H & 54 | 7.4 REETE B/t 2013 | REB 6.0Kg
A M50 | OP 9.40 24 0525 HMH =T 50 7.14 AT EFE B/ 2013 | &R 6.0Kg
faf ik M50 DNS 28 0765 tE =i 51 7.14 RETFE JB/ith 2013 | ¥R 6.0Kg
faiix M55 DNS 28 0179 fnsl HRIE 55 7.14 R EFHE JB/ith 2013 | ¥R 6.0Kg
ah % M60 1 6.93 29 0064 FE B 60 7.14 TV ETFE B/t 2013 | =B 5.0Kg
A% M65 1 11.32 30 0312 WX — & | 66 7.14 TV ETFE B/t 2013 | =B 5.0Kg
raihi% M65 2 9.62 28 0190 A 8= 69 7.14 T EFE B/ 2013 | £RB 5.0Kg
A M65 3 8.05 27 1065 2E EA 65 7.14 T EFE JB/ it 2013 | &R 5.0Kg
% M70 | 1 8.83 27 1386 R —R 72| 714 | AEETFE 75/t 2013 | ER 4.0Kg
A M70 DNS 28 0095 A B 74 7.14 R EFE JB/ith 2013 | ¥R 4.0Kg
L% M75 1 8.35 27 1236 =i B 77 7.14 TV ETFE B/t 2013 | =B 4.0Kg
% M75 | 2 7.71 26 0536 KE #— | 75| 714 | AEETE 75/t 2013 | ER 4.0Kg
% M75 | 3 7.34 26 0297 WA BB | 78| 714 | GREVETFHE 7B/t 2013 | = 4.0Kg
i M80 1 7.40 27 0009 WA E— 83 7.14 R EFHE JB/ it 2013 | &= 3.0Kg
i M80 2 5.84 29 0438 i B—BR | 81 7.14 TV ETFE JB/ith 2013 | =R 3.0Kg
R 1% M80 | OP 9.18 38 0013 TH 81 7.14 REEFE T8/t 2013 | & 3.0Kg
i M80 DNS 26 0007 EH MWE 81 7.14 TEETETFE JB/ith 2013 | = 3.0Kg
R 1% M80 DNS 29 0007 Bk XX 80 714 REETFE JB/ it 2013 | REB 3.0Kg
R % M85 1 6.01 27 1272 BRI 88 | 714 | GREEFIE B/t 2013 | =B 3.0Kg
[efirety M30 DNS 27 1367 M EE 33 7.14 R EFHE JB/ith 2013 | =R 2.0Kg
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F2oEA Y RI—XPE L RREEFERR

2 B 2013%7H148(R)

Gl ZRHEE/thiE L 5RiS XNERLDOPIE T ZE B 4 5 DE F TIB LI R 4%

E4=] VSR B | BE £ |RE| TR | BiERES K £ & HIH A4 il FE\|BEFE & $EEE
M Az M40 1 31.94 29 0423 He #7 43 7.14 TV EFE JB/ith 2013 | =B 2.0Kg
2% M40 2 30.88 27 1296 fAE BAX 41 7.14 T EFE JB/ith 2013 | =R 2.0Kg
M Az M40 3 25.68 25 0565 L RF 43 7.14 T EFE JB/ith 2013 | =B 2.0Kg
Az M40 4 25.33 28 1204 hE E—B | 42 7.14 TV EFE JB/ith 2013 | =B 2.0Kg
M Az M40 5 24.15 26 0701 =ie B 43 7.14 T EFE JB/ith 2013 | =B 2.0Kg
M Az M40 6 16.11 27 1018 At F— 42 7.14 T EFE JB/ith 2013 | =B 2.0Kg
M Az M40 DNS 30 0778 HE E# 41 7.14 e TETFHE B/ 2013 | =B 2.0Kg
A 5 M45 1 33.19 29 0396 = )| 45 7.14 R EFHE JB/ith 2013 | =B 2.0Kg
A M45 2 22.38 26 0573 L Bz 47 7.14 TV EFE JB/ 2013 | =B 2.0Kg
ket M45 3 18.90 27 1351 thif X 49 7.14 R EFIE JB/ith 2013 | =B 2.0Kg
A M45 | OP 17.35 17 0325 Weh Bt 47 7.14 R EFE JB/ 2013 | =B 2.0Kg
A M45 DNS 29 0374 RE =3 48 7.14 R EFE JB/ith 2013 | =B 2.0Kg
A M50 1 34.18 28 0958 BR HE 50 7.14 R EFHE JB/ith 2013 | =B 1.5Kg
A 5 M50 2 30.30 25 0708 = e 50 7.14 R EFHE JB/ 2013 | =B 1.5Kg
A 5 M50 3 29.32 25 0789 Kitty & 52 7.14 R EFE JB/ith 2013 | =B 1.5Kg
A5 M50 4 21.30 26 0461 fH &R 53 7.14 R EFHE JB/ith 2013 | &R 1.5Kg
P A3 M50 5 19.43 27 1353 ZH & 54 7.14 R EFHE JB/ith 2013 | =B 1.5Kg
A fE M50 | OP 31.98 24 0525 MHF =T 50 7.14 R EFHE JB/ 2013 | =B 1.5Kg
[ M50 DNS 28 0922 B BEfE 53 7.14 R EFHE JB/ it 2013 | =B 1.5Kg
A fE M50 DNS 29 0416 B =4 51 7.14 R EFE JB/ith 2013 | =B 1.5Kg
[efirety M55 1 29.93 26 0458 B £7) 55 7.14 eV IERFHE JB/ith 2013 | =B 1.5Kg
[SaE:i et M55 2 23.25 27 0872 i 59 7.14 T IETFE B/ 2013 | &R 1.5Kg
[SRE:i et M60 1 32.91 26 0504 xR R 61 7.14 R EFHE B/t 2013 | &R 1.0Kg
k3 M60 2 25.75 28 0339 MR BT 61 7.14 T8 R FHE JB/ it 2013 | %£RB 1.0Kg
A% M60 | OP 33.30 24 0471 AR & 63 7.14 T TIETFE B/ 2013 | = 1.0Kg
o i 45 M60 | OP 24.15 24 0146 YRGS 64 7.14 I TEFE JB/ it 2013 | %= 1.0Kg
[efirety M60 DNS 27 1235 WEMR & 64 7.14 R EFHE JB/ith 2013 | £RB 1.0Kg
A5 M65 1 39.10 30 0312 WK —F 66 7.14 T TIETFHE B/ 2013 | = 1.0Kg
A% M65 2 30.75 27 1315 A W 66 7.14 R EFHE JB/ith 2013 | &= 1.0Kg
o i 45 M65 3 19.80 27 1065 #E EA 65 7.14 R EFHE JB/ it 2013 | =B 1.0Kg
M fE M70 1 33.29 28 0508 FH - 71 7.14 R EFE JB/ith 2013 | £RB 1.0Kg
I A2 M70 2 32.01 28 0095 FH B 74 7.14 R EFHE JB/ith 2013 | £RB 1.0Kg
[efirey M70 3 25.61 26 0738 Wi BB 72 7.14 TEETETFE B/t 2013 | =R 1.0Kg




BmERA

F2oEA Y RI—XPE L RREEFERR

i3 A 2013%7H814H(RH)

% A ZEHER/ kLRSS XIERLDOPILT B S A S DEF TIBGL R R4+

EH DX gtz [ i 8]j |RE|FE| BRES K £ @) 28 K& B | EE |HERE| & % |sz=E=
M fg % M70 4 22.71 27 1386 H —B 72 714 R EFHE JB/ith 2013 | =R 1.0Kg
M 5 4% M70 5 19.14 27 0052 & EM 72 7.14 T EFE JB/ith 2013 | &R 1.0Kg
1% M75 | 1 24.80 26 0297 LA FERE | 78| 714 | EEVETE TR/ ith 2013 | &R 1.0Kg
[efiEey M75 2 2441 27 1236 = Eif 77 7.14 R EFHE JB/ith 2013 | =R 1.0Kg
RE e M75 | OP 31.96 24 0207 Bl & 76 | 714 | EEEFE eyl 2013 | ER 1.0Kg
M 85 4% M80 1 22.09 28 0088 mR & 82 7.14 T EFE JB/ith 2013 | &R 1.0Kg
M8 % M80 | 2 19.24 27 0009 mEx F— 83 | 7.4 | AHTETFIE B/ 2013 | &R 1.0Kg
M Az M80 3 16.14 29 0438 WH BB | 81 7.14 R EFE JB/ith 2013 | =R 1.0Kg
A% M80 DNS 26 0007 ER BE 81| 714 | AHTETFHE B/ 2013 | &R 1.0Kg
A% M85 1 13.04 27 1272 ER i 88 | 7.4 REETFE B/t 2013 | REB 1.0Kg
Y M35 1 49.09 26 0697 = B 38 7.14 AT EFE B/ 2013 | &R 800g
Y M35 2 29.65 28 1299 P & 39 7.14 AT EFE B/ 2013 | &R 800g
PY M40 1 4854 30 0966 Ng R 41 714 | GRETETFE JB/ith 2013 | ¥R 800g
Y M40 2 32.81 27 1299 REEEA 40 | 7.14 IREETFE JB/ith 2013 | ¥R 800g
DU M40 3 16.63 27 1018 Bt F— 42 | 714 | GREEVETFIE JB/ith 2013 | =R 800g
U1 M45 1 31.14 26 0724 N &5 46 | 714 | GREEVETFIE JB/ith 2013 | ¥R 800g
PY M45 2 30.64 29 0176 AR B— 49 714 R EFHE B/t 2013 | =B 800g
By M45 | OP 19.32 17 0325 g Bth | 47 | 714 | GEEEVETFE 7B/t 2013 | R 800g
PY M45 DNS 29 0374 RE =3 48 714 R EFHE B/t 2013 | £RB 800g
ASks M50 | 1 40.79 30 0921 Bl F=E 50 | 714 | EEVETFE 7B/ 2013 | &R 700g
Py M50 | 2 40.00 28 0922 B g 53 | 714 | AHVEFHE 7B/t 2013 | ER 700g
Py M50 | 3 30.88 25 0708 &R 50 | 714 | AEETFE 7B/t 2013 | ER 700g
KoL) M55 1 49.92 26 0458 HE £T 55 7.14 R EFE JB/ith 2013 | £RB A& 700g
OYE M55 | 2 40.73 28 | 1092 Kyt HHS |56 | 714 | E#E<EFE | B/t | 2013 | = RE#H 700g
PYK M55 3 31.58 27 0872 m % 59 7.14 R EFHE JB/ith 2013 | %= 700g
VY M55 | 4 25.82 27 0428 tE 15— 59 | 714 | GAHTETFIE 7B/t 2013 | R 700g
B M60 1 4313 26 0504 Z%H & 61 7.14 R EFHE JB/ith 2013 | &= 600g
Y% M60 2 25.64 27 1372 BR F— 62 714 R EFE B/ 2013 | &= 600g
B M60 DNS 27 1235 WEEH BE 64 7.14 AT EFE B/ 2013 | EB 600g
B M65 1 37.39 28 0190 A B= 69 7.14 AT EFE JB/ 2013 | EB 600g
DU M65 2 34.80 27 1315 fE & 66 | 714 | SEEVEFIE B/t 2013 | =B 600g
B M70 1 27.53 25 0571 BiE B 72 7.14 AT EFE B/ 2013 | EB 500g
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F2oEA Y RI—XPE L RREEFERR

B B 2013%7H14H(H)
% P ZRHER/ ik E5EE KINERLDOPILE B S A D DEF TIRGI X R 4%
EH OSA| B | FE #% |RE| E | BRES K £ i #A8 K= % M | EE |BMERE] & % |#REs=
U M70 2 23.75 27 1386 B —R 72| 714 RHETE JB/ith 2013 | ¥R 500g
U M70 DNS 28 0095 /A B 74 | 714 RHETE JB/ith 2013 | ¥R 500g
Py M70 DNS 29 0194 e 73| 714 | GREETFE JB/ith 2013 | ¥R 500g
U M75 1 23.64 27 1236 = B 77 7.14 R EFHE JB/ith 2013 | =R 500g
B M75 | 2 23.37 28 0862 =ik H 77| 114 | EHEFE eyl 2013 | ER 500g
Py M75 3 13.49 26 0536 KE WH— 75 | 714 | EETERFHE JB/ith 2013 | ¥R 500g
Y M75 | OP 33.30 24 0207 Bl & 76 | 714 RHETE JB/ith 2013 | ¥R 500g
By M80 26.25 28 0088 VS IRES 82 | 714 | GRHTETFIE B/t 2013 | R R=# 400g
Py M80 21.76 27 0009 wmAR &— 83 | 714 | EHTEFIE JB/ith 2013 | =R 400g
Yz M80 3 17.31 29 0007 Bk FXX | 80 7.14 R EFE JB /it 2013 | &R 400g
LYK M80 | OP 21.27 38 0013 FH KM 81| 714 | AHETFE B/t 2013 | R 400g
NoT—1% M35 1 43.99 28 1328 R/ K#§ | 38| 714 | EEEFHE B/ 2013 | ER 7.26Kg
Nov—% M40 | 1 49.04 26 | 0701 =E R | 43| 714 | GEEEVETFIE B/t 2013 | RE KE#H 7.26Kg
NoT—8H | M40 | 2 31.49 27 | 1296 BE BAX 41| 714 | GEETEFE | B/t | 2013 | RER 7.26Kg
Nov—i% M40 3 28.90 25 0565 EL RE 43 | 714 REETFE B/t 2013 | REB 7.26Kg
NoI—% M40 DNS 30 0778 HL E#H 41 7.14 REETFE B/t 2013 | ®B 7.26Kg
NnNov—i% M45 31.81 29 0396 B 45 | 7.14 REETFE B/t 2013 | REB 7.26Kg
Nov—% M45 12.48 28 1215 N+ B 48 7.14 REETFE B/ 2013 | EEB 7.26Kg
NoT—1% M45 | OP 18.15 24 0308 INEF BR— 46 | 714 | GREEVEFIE JB/ith 2013 | =R 7.26Kg
NoI—48% M50 | OP 32.33 24 0525 F#H =iT |50 714 | EEEFHE 7B/ 2013 | &R 6.0Kg
Nov—i% M55 1 39.33 27 1173 fEE &H 57 7.14 REEFE JB/ith 2013 | ¥R 6.0Kg
NoT—1% M55 | 2 33.91 28 0179 M5l MMIE | 55| 714 | GAEVETE B/ it 2013 | RR 6.0Kg
NoI—48% M60 | OP 28.39 34 0152 #AH L= |60 714 | EHETFHE 7B/ 2013 | &R 5.0Kg
NT—8% M60 DNS 29 0049 Hl EE 60 7.14 AT EFIE B/ 2013 | & 5.0Kg
No3I—#% M60 DNS 27 0824 TR RE 60 | 7.4 | GAHETETFIE B/t 2013 | T 5.0Kg
NnNov—i% M65 1 4429 28 1137 BH FH 69 | 7.14 REETFE JB/ith 2013 | =R XEH 5.0Kg
Nov—i% M65 2 26.92 27 1065 BE BA 65 | 7.14 RETEFE JB/ith 2013 | = 5.0Ke
Nov—i% M70 1 3920 27 1108 B 70 7.14 AT EFE B/ 2013 | & 4.0Kg
NoT—1% M70 | 2 19.86 27 0052 FHF IEM 72| 114 | EHEFE B/ 2013 | ER 4.0Kg
Nov—i% M75 1 25.78 26 0297 WA BEif 78 | 7.14 IREETE JB/ith 2013 | ¥R 4.0Kg
NoI—% M75 | OP 29.93 24 0207 Bl & 76 | 714 | EHEFE B/ 2013 | ER 4.0Kg
No3—% M80 | OP 20.39 38 0013 TR 81| 714 | GAHTBETFIE 75/t 2013 | R 3.0Kg
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# A 2013%7H148(R)

Gl ZRHEE/thiE L 5RiS XNERLDOPIE T ZE B 4 5 DE F TIB LI R 4%
E4=] ISR 2 &k |EE| R | BERES K £ & HIH A4 il FE |EERFE $EEE

NT—1% M80 DNS 26 0007 EH HE 81 7.14 TV EFE JB/ith 2013 | =B 3.0Kg
60m W30 9.67 -14| 28 1260 JKHE K 32 7.14 T EFE JB/ith 2013 | =B
60m W35 9.19 -14| 28 1295 R x£=&F 36 7.14 T EFE JB/ith 2013 | =B
60m W35 DNS 25 0842 BR BE 39 7.14 T EFE JB/ith 2013 | =B
60m W40 843 |-1.4| 28 0908 INE % 41 7.14 TEE T EFE JB/th 2013 | £R
60m W40 9.06 -14| 28 1258 RO E£ZB | 41 7.14 T EFE JB/ith 2013 | =B
60m W40 DNS 28 1191 RE Ri 41 7.14 TV EFE JB/ith 2013 | =B
60m W45 8.48 +1.7 14 0962 hE BE 46 7.14 TV EFE JB/ith 2013 | =B
60m W55 10.02 |+1.7] 27 0186 #H EET | 58 7.14 TV EFE JB/ith 2013 | =B
60m W60 10.83 |+1.7] 29 0026 AU RF 63 7.14 TV EFE JB/ith 2013 | =R
60m W65 1257 |+1.7] 27 1427 ST e 69 7.14 T EFE JB/ith 2013 | =R
60m W70 1115  |+1.2]| 29 0430 ME v/F 74 7.14 T EFE JB/ith 2013 | =R
60m W70 1218 |+1.2] 27 0554 Ry FEF | 70 7.14 TV EFE JB/ 2013 | =R
60m W70 DNS 25 0383 =Al EKF | 74 7.14 TV EFE JB/ith 2013 | =R
60m W75 1019 |+1.2| 26 0514 M =¥ 76 7.14 TV ETFE JB/ith 2013 | =B
60m W80 1266 |+1.2| 29 0390 it vz 84 7.14 TV ETFE JB/ith 2013 | =B
60m W80 1275 |+1.2| 25 0180 Lo XF 80 7.14 TV EFE JB/ith 2013 | =B
100m W30 1 1569 |+1.0| 28 1260 KE K 32 7.14 TV ETFE JB/ith 2013 | =B
100m W35 1 1341 |+1.0| 27 1378 =F = 39 7.14 TV ETFE JB/ith 2013 | =B
100m W35 2 1484 |+1.0| 28 1259 YR £&F 36 7.14 TV ETFE B/ 2013 | =R
100m W35 3 1580 |+1.0| 29 0382 NX #MEF | 38 7.14 TV ETFE JB/ith 2013 | =B
100m W35 DNS 25 0842 BR BHE 39 7.14 eV IERTFHE JB/ 2013 | =B
100m W40 1366 |+0.5| 28 0908 INE #E 41 7.14 TEE R FHE JB/ith 2013 | &
100m W40 1488 |+05| 28 1258 RO XEB |4 7.14 TV ETFE B/ 2013 | =
100m W40 DNS 28 1191 IREA K 41 7.14 TV ETFE B/ 2013 | =B
100m W45 1340 |+05| 14 0962 hE KEE 46 7.14 TV EFE JB/ith 2013 | =
100m W50 1 1468 |+1.0| 28 1099 A BHF 51 7.14 TE R FHE JB/ith 2013 | &=
100m W55 1 1525 |+1.0| 25 0269 R AhTF | 58 7.14 TV ETFE B/ 2013 | &R
100m W60 1 1507 |+1.0| 30 0325 g EF 60 7.14 TV ETFE JB/ith 2013 | =B
100m W65 1 2248 |+1.0| 27 1427 B RF 69 7.14 TV ETFE B/ 2013 | =R
100m W70 1 16.93 |+1.0| 29 0027 A BEF | N 7.14 T ETFE B/t 2013 | =B
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2 B 2013%F7H14H(R)
% B ZRHER/thhE RS XIEGLDOPIL T BB S o D EF TIBRL X R 4%
E4=] VSR B | BE £ |RE| TR | BiERES K 4 & HIH A4 5 B FE\|BEFE & Z |x==zs
100m W70 DNS 25 0383 =R EXKF | 74 7.14 TV EFE JB/ith 2013 | =B
100m W75 1 1648 |+1.0| 26 0514 M =¥ 76 7.14 T EFE JB/ith 2013 | =B AKEH
100m W80 1 2247 |+10| 25 0180 WA xXF 80 7.14 T EFE JB/ith 2013 | =B
200m W40 DNS 28 0908 INE % 41 7.14 TEE T EFE JB/th 2013 | £R
200m W45 | OP 28.14 |+0.7| 14 0962 hE B=E 46 7.14 TEE T EFE JB/ith 2013 | &R
200m W50 DNS 27 1262 A& BEHEx 50 7.14 TEETETFHE JB/ 2013 | =B
200m W70 1 3563 |+0.7| 29 0027 A BEF | N 7.14 T EFE JR/ith 2013 | =B AEH
200m W75 1 3629 |+0.7| 26 0514 M =¥ 76 7.14 R EFE JR/ith 2013 | =B BA#H - K&
400m W50 1 1.11.82 28 1099 A BAF 51 7.14 TV EFE JB/ i 2013 | £RB
400m W50 DNS 27 1262 & BEHEE 50 7.14 eV IERFHE JR/ith 2013 | =B
400m W70 DNS 29 0027 A BEF | N 7.14 TV EFE JR/ith 2013 | =B
800m W50 1 3.01.69 27 0434 FE EBEx 52 7.14 TV EFE JR/ith 2013 | =B
800m W70 1 3.38.79 27 0554 Ry FEF | 70 7.14 TV ETFE JB/ith 2013 | =B
800m W75 DNS 27 0886 ¥R FOF 77 7.14 TV ETFE B/ 2013 | =B
1500m W45 1 5.07.21 27 0790 WE #HF 45 7.14 T IETFE B/ 2013 | =B REH
1500m W45 2 6.25.24 29 0435 SH &nF | 47 7.14 TV ETFE B/ 2013 | =B
1500m W70 DNS 28 0502 ZH ¥ 74 7.14 T IETFE B/ 2013 | =B
1500m W75 DNS 27 0886 ¥R FOF 77 7.14 TV ETFE B/ 2013 | =B
3000m W45 1 10.48.27 27 0790 WE #HF 45 7.14 T TIETFE B/ 2013 | =B REH
3000m W70 1 15.30.77 27 0554 [RilL FEF | 70 7.14 TV ETFE JB/ith 2013 | =
7.14 R EFHE B/ 2013 | Z=
80mH W45 1 1617 |-15| 25 0312 KI BA¥F 46 7.14 TEETETFE B/ 2013 | =B
80mH W55 1 1811 |-1.0| 25 0269 R hTF | 58 7.14 TV ETFE B/ 2013 | =
80mH W60 1 19.86 |+1.5| 30 0371 B HYF 64 7.14 T TIETFE B/ 2013 | =
80mH W75 1 2118 |+15| 27 1189 Ei# BhAF 77 7.14 T RFIE JB/ it 2013 | £RB
3000mwW W45 1 18.20.08 29 0429 B KBk | 49 7.14 T TIETFE B/ 2013 | &R REH
3000mW W75 1 23.23.54 26 0500 B /\EF | 76 7.14 TE R FHE JR/ith 2013 | £RB AE#H
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# B 2013%7H14H(H)

Gl ZRHEE/thiE L 5RiS XNERLDOPIE T ZE B 4 5 DE F TIB LI R 4%

=] 95X | g6z | B2 #k |RE| E | BRES K £ Fh| H8 A& il F£E |MEFRE| & E |sa2zs
E =Bk W35 1 1.30 26 0719 =iE thF 39 7.14 TV EFE JB/ith 2013 | =R

E =Bk W55 1 1.12 27 0977 = A 56 7.14 T EFE B/ 2013 | ¥R

EE Bk W60 1 1.06 29 0026 AW HF 63 | 7.14 RHETE JB/ith 2013 | RB R

E =Bk W75 1 1.06 27 1189 Bl shF 77 7.14 T EFE JB/ith 2013 | =R

HEE Bk W55 1 1.60 27 0977 =k B 56 7.14 R EFE B/ 2013 | ¥R

ek W60 1 2.20 25 0056 e XF 64 7.14 T EFE JR/ith 2013 | &

Ea ik W60 2 2.10 29 0130 AR % 64 | 7.14 REETFE JB/ith 2013 | ¥R

FE 1 Bk W35 1 453 +0.3| 28 0943 fafE R 39 7.14 TV EFE JR/ith 2013 | &

ENRBk W35 2 413  |+0.6| 29 0382 X #MEF | 38 7.14 AT EFE JB/ it 2013 | &R

E R Bk W40 DNS 28 1191 IRE kit 41 7.14 AT EFE JB/ it 2013 | &

FE 1 Bk W50 1 424 -0.1| 28 1099 AR BAF 51 7.14 TV EFE JR/ith 2013 | =

FE 1 Bk W55 1 3.65 +0.7] 27 0186 #H EET | 58 7.14 TV EFE JR/ith 2013 | &R

ENEBk W60 1 404 |+0.9| 30 0325 gk EF 60 7.14 T EFE JB/ it 2013 | & KEH

ENE Bk W80 1 2.21 +0.4| 29 0390 i vz 84 7.14 %I EFIE JE/# 2013 | =

=R Bk W35 1 956 |+1.2| 28 0943 fafE  FRe 39 7.14 T EFE B/ 2013 | &

=Rk W45 1 8.59 +0.9| 25 0312 KiI BF 46 7.14 TV ETFE B/ 2013 | = KEH

=R Bk W55 1 736 |-05| 27 0977 =P OBAE 56 7.14 AT EFE B/ 2013 | EB

=R Bk W60 1 6.49 |-03| 30 0371 B HYF 64 7.14 T EFE B/ 2013 | &

=Bk W75 1 5.84 -0.2| 27 1189 BE# shF 77 7.14 R EFE JB/ith 2013 | %=

faiix W45 1 6.85 25 0312 XTI BF 46 7.14 R EFE JB/ith 2013 | &= 4.0Kg
At W45 | OP 7.33 8 0456 gL BAE 46 7.14 R EFHE JB/ith 2013 | &= 4.0Kg
Fah 1% W50 1 6.47 28 1164 W Ehm&E 53| 714 IREETE JB/ith 2013 | ¥R 3.0Kg
R 1% W60 1 9.34 28 1079 W FF 60 | 7.14 REETFE T8/t 2013 | = RKE#H 3.0Kg
aiix W65 DNS 29 0238 B =F 68 7.14 TEETIRFHE JR/ith 2013 | %= 3.0Kg
Fah 1% W70 1 6.29 28 0500 XER #8F 74| 714 IREETE B/t 2013 | ¥R 3.0Kg
Fah 1% W70 DNS 25 0383 =] ERF 74| 114 IREETE JB/ith 2013 | = 3.0Kg
Atk W80 1 487 28 0944 =R ¥ 83 7.14 eV IERFHE JB/ith 2013 | %= AE#H 2.0Kg
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# B 2013%7H148(R)
Gl ZRHEE/thiE L 5RiS XNERLDOPIE T ZE B 4 5 DE F TIB LI R 4%
=] VSR B | BE £ |RE| TR | BiERES K £ £i HH A4 il F£E |MEFRE| & Z |[na==
M Az W45 | OP 22.08 8 0456 I BAE 46 7.14 TV EFE JB/ith 2013 | =R 1.0Kg
M Az W50 1 20.56 30 0805 WA BRF 50 7.14 eV IETFHE B/ 2013 | =B 1.0Kg
M Az W50 2 15.15 28 1164 W¥ Xm&E | 53 7.14 eV ETFHE B/ 2013 | =B 1.0Kg
Az W55 1 19.65 25 0193 AIE BERF | 57 7.14 TV EFE JB/ith 2013 | =R 1.0Kg
M Az W60 1 20.58 28 1079 WE E=F 60 7.14 eV ETFHE B/ 2013 | =B 1.0Kg
M Az W60 2 16.95 30 0371 B oHYF 64 7.14 T EFE JB/ith 2013 | =R 1.0Kg
M Az W65 | OP 25.78 22 0607 miE HF 67 7.14 T EFE JB/ith 2013 | =R 1.0Kg
[efiret W65 DNS 29 0238 Ek =F 68 7.14 eV IERFHE JB/ith 2013 | =B 1.0Kg
A 5 W70 DNS 28 0502 2H EF 74 7.14 T EFE JB/ith 2013 | =B 1.0Kg
[efiret W80 1 9.80 28 0944 SR ¥ 83 7.14 TV EFE JB/ith 2013 | =B 0.75Kg
U W45 1 32.36 28 1251 FiE BpE 46 7.14 TEETEFHE JB/ith 2013 | =B 600g
U W55 1 2481 25 0193 Al BERF | 57 7.14 TV EFE JB/ith 2013 | =B 500g
U W60 1 27.70 29 0084 BE AR 63 7.14 TV EFE JR/ith 2013 | =R AEH 400g
U W60 2 27.67 30 0325 gk BF 60 7.14 T EFE JR/ith 2013 | =B AEH 400g
Y W65 DNS 29 0238 B =F 68 7.14 R EFHE JB/ith 2013 | =B 400g
U W65 DNS 22 0607 ik HF 67 7.14 R EFHE JB/ 2013 | =B 400g
U W70 1 20.72 28 0500 ME BF 74 7.14 TV ETFE JB/ 2013 | =R 400g
NT—% W45 | OP 20.12 8 0456 I 5hAE 46 7.14 R EFE B/t 2013 | &R 4.0Kg
NnNov—i% W50 1 26.89 30 0805 mE ¥ 50 | 7.14 REETFE JB/ it 2013 | ¥EB 3.0Kg
NoI—% w50 | 2 26.03 28 1164 WE EhRE 53| 714 | AEVETHE 75/t 2013 | ®R 3.0Kg
Nov—i% W55 1 27.05 25 0193 AIE BEF | 57 7.14 REETFE JB/ith 2013 | ¥R 3.0Kg
NoT—1% W60 1 26.00 28 1079 Wi &F 60 7.14 AT EFE B/ 2013 | &R KEH 3.0Kg
NoT—% W65 | OP 26.90 22 0607 mEE HF | 67| 714 | AETEFIE 7B/t 2013 | = 3.0Kg
NoT—1% W70 1 21.80 28 0500 XER HBF 74| 114 | GEEEFE B/ 2013 | & 3.0Kg
NoI—#% W70 DNS 28 0502 Bl =F 74| 714 | EEETFE B/t 2013 | R 3.0Kg
NoR—% wso | 1 15.67 28 0944 SR WF 83| 714 | EEETHE 7B/t 2013 | = RE#H 2.0Kg
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